[SE5p: = FopiE €ops hiuk:2)

FERIHE (1) HE®RME (F) k=
SW=TH 88-10 iRt
=SWW=TH 88-11 iRt 2
SW=TH 88-12 iRt
=SWW=TH 88-13 iRt 2
SW=TH 88-14 iRt
SWLW=TH 92-5 iRt 2
SW=TH 92-6 iR 2
=SWW=TH 102-5 iRt 2
SW=TH 102-6 iR 2
=SWW=TH 105-2 iRt 2
SW=TH 107-5 iR 2
=SWW=TH 107-6 iRt 2
SW=TH 108-4 iR 2
=SWW=TH 115-4 iRt 2
SW=TH 115-5 iR 2
SWW=TH 115-6 iRt &
SWL=TH 121-9 HiR 2
SWW=TH 121-10 iR &
SWL=TH 121-11 iRt &
SWW=TH 121-12 iR &
SWL=TH 121-13 iRt &
SWW=TH 121-14 iR &
SWL=TH 121-15 iRt &
SWW=TH 121-16 iR &
SWL=TH 122-4 HiR 2
SWW=TH 122-5 iR &
EWL=TH 127-9 iR F
SW=TH 127-10 iR &
EWL=TH 127-11 Rt &
SW=TH 127-12 iR &
EWL=TH 133-13 Rt &
SW=TH 133-14 iR &
EWL=TH 133-15 Rt &
SW=TH 136-5 iRt &
EWL=TH 136-6 iR F
SW=TH 136-7 iRt &
=WU=TH 137-14 iRt 2
SWLW=TH 137-15 iR T
=WU=TH 137-16 iRt 2
SW=TH 137-17 iR
=WU=TH 137-18 iRt 2
EIL=TH 137-19 iR ih &
=WU=TH 137-20 iRt 2
SWL=TH 139-14 iR
=WU=TH 139-15 iRt 2
EIL=TH 139-16 iR ih &
=WW=TH 140-3 iRt 2
SW=TH 142-5 iRt
=WW=TH 143-5 iRt 2
SW=TH 143-6 iRt




[SE5p: = FopiE €ops hiuk:2)

FERIHE (1) HE®RE () k=
SW=TH 143-7 iRt
=SWW=TH 150-3 iRt 2
SW=TH 151-3 iRt
=SWW=TH 163-1 iRt 2
SWLW=TH 164-1 R
=SWW=TH 188-1 iRt 2
SW=TH 210-1 iR 2
=SWW=TH 210-2 iRt 2
SW=TH 211-1 iR 2
=SWW=TH 211-2 iRt 2
SW=TH 211-3 iR 2
=SWW=TH 2221 iRt 2
SWLW=TH 222-2 iR 2
=SWW=TH 222-3 iRt 2
SWLW=TH 223-1 iR 2
SWW=TH 223-2 iR
SWL=TH 224-3 A
SWW=TH 225-1 iR
SWL=TH 225-2 A
SWW=TH 225-3 iR
SWL=TH 225-4 A
SWW=TH 225-5 iR
SWL=TH 2281 HiR Hh 2
SWW=TH 228-2 iR
SWL=TH 228-3 HiR 2
SWW=TH 229-1 iR
EWL=TH 241-1 iR F
SW=TH 241-2 iR
EWL=TH 241-3 iR F
SW=TH 242-3 iR
SWLW=TH 245-2 A
=L=TH 245-3 iR
SWLW=TH 248-1 A
=L=TH 248-2 iR
EWL=TH 248-8 A
SW=TH 248-9 iR
=WU=TH 248-10 iRt 2
SW=TH 248-11 iR ih &
=WU=TH 249-5 iRt 2
EIL=TH 249-6 iR ih &
=WU=TH 249-7 iRt 2
EIL=TH 249-8 iR ih &
=WU=TH 249-9 iRt 2
EIL=TH 249-10 iR ih &
=WU=TH 249-11 iRt 2
EIL=TH 250-4 iR ih &
=WW=TH 250-5 iRt 2
SWLW=TH 250-6 R
=WW=TH 250-7 iRt 2
SWLW=TH 250-8 R




[SE5p: = FopiE €ops hiuk:2)

FERIHE (1) HE®RME (F) k=
SW=TH 250-9 R E
SIWLW=TH 250-10 iRt 2
SW=TH 25011 iRt
EIL=TH 2521 iRt 2
=SW=TH 253-7 R
EIL=TH 253-8 iRt 2
=SW=TH 253-9 iR 2
EIL=TH 254-3 iRt 2
SWLW=TH 255-3 iR 2
=SWW=TH 259-4 iRt 2
SWLW=TH 259-5 iR 2
=SWW=TH 259-6 iRt 2
SWLW=TH 259-7 iR 2
SWLW=TH 279-16 iRt 2
SWLW=TH 279-17 iR 2
SWW=TH 279-18 iR
SW=TH 300-1 HiR 2
=WLU=TH 302-10 iR &
SW=TH 302-11 HiR Hh 2
=WLU=TH 302-12 iR &
SW=TH 305-20 HiR Hh 2
=EL=TH 305-21 iR
SW=TH 305-22 A
=EL=TH 305-23 iR
=EW=TH 305-24 A
=EL=TH 305-25 iR
SWLW=TH 305-26 A
S TH 307-3 HriRih 3
SWLW=TH 309-1 iR F
EIL=TH 310-8 FriRih 2
SWLW=TH 310-9 iR F
EWLU=TH 312-7 iR &
SWLW=TH 317-5 iR F
EWLU=TH 319-2 iRt &
SWLW=TH 319-3 A
EWLU=TH 319-4 iRt &
=ZWL=TH 323-4 iRt 2
ESWL=TH 323-5 iR T
ZWL=TH 323-6 iRt 2
ESWL=TH 323-7 iR
ZWL=TH 323-8 iRt 2
ESWL=TH 324-3 iR
ZWL=TH 339-3 iRt 2
EIL=TH 339-4 iR ih &
ZWL=TH 339-5 iRt 2
ESWL=TH 340-4 iR
EIL=TH 340-5 iRt 2
=SWL=TH 341-4 R
=WW=TH 343-7 iRt 2
SWLW=TH 346-1 R




[SE5p: = FopiE €ops hiuk:2)

FERIHE (1) HE®RME (F) k=
=SW=TH 347-5 iR
=WW=TH 347-6 iRt 2
SW=TH 349-3 iRt
=SWW=TH 349-4 iRt 2
SW=TH 349-5 iRt
=SWW=TH 349-6 iRt 2
SWL=TH 351-4 iR 2
=SWW=TH 351-5 iRt 2
=SW=TH 351-6 iR 2
=SWW=TH 352-9 iRt 2
SWLW=TH 352-10 iR 2
=SWW=TH 352-11 iRt 2
SW=TH 3641 iR 2
=SWW=TH 364-2 iRt 2
SWLW=TH 364-3 iR 2
EWL=TH 370-1 iRt &
SWL=TH 370-2 HiR 2
EWL=TH 372-1 iR &
SWL=TH 379-1 HiR Hh 2
SWW=TH 443-1 iR &
SWL=TH 443-2 A
SWW=TH 443-3 iR &
SWL=TH 443-4 A
SWW=TH 446-17 iR &
SWL=TH 703-3 HiR 2
SWW=TH 703-4 iR &
EWL=TH 703-5 iR F
SW=TH 712-5 iR &
EWL=TH 712-6 iR F
SW=TH 712-7 iR &
EWL=TH 713-6 iR F
SW=TH 713-7 iR &
EWL=TH 713-8 iR F
SW=TH 716-13 iRt &
EWL=TH 716-14 iR F
SW=TH 716-15 iRt &
=WU=TH 716-16 iRt 2
EIL=TH 718-6 iR ih &
=WU=TH 719-13 iRt 2
SWL=TH 733-4 iR
=WU=TH 754-5 iRt 2
SW=TH 754-6 iR
=WU=TH 754-7 iRt 2
SWL=TH 763-4 iR
=WU=TH 763-5 iRt 2
SWL=TH 765-1 iR
=WW=TH 765-2 iRt 2
SW=TH 765-3 iRt
=WW=TH 7661 iRt 2
SW=TH 766-2 iRt




[SE5p: = FopiE €ops hiuk:2)

FERIHE (1) HE®RE () k=
SW=TH 782-1 R E
=SWW=TH 782-2 iRt 2
SWLW=TH 786-4 R
=SWW=TH 786-5 iRt 2
SW=TH 788-1 iRt
=SWW=TH 792-4 iRt 2
SWLW=TH 792-5 iR 2
=SWW=TH 793-2 iRt 2
SWLW=TH 798-5 iR 2
=SWW=TH 798-6 iRt 2
SWLW=TH 804-5 iR 2
=SWW=TH 804-6 iRt 2
SWLW=TH 804-7 iR 2
=SWW=TH 806-3 iRt 2
SWLW=TH 806-4 iR 2
EWL=TH 806-5 iRt &
SWL=TH 806-6 HiR 2
EWL=TH 808-1 iR &
SWL=TH 808-2 HiR Hh 2
SWU=TH 818-10 iRt 2
SW=TH 818-11 HiR Hh 2
ESIL=-TH 820-18 Hifh %




